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BACHELOR’S DEGREE PROGRAMME
Term-End Examination

December, 2012

ELECTIVE COURSE : ECONOMICS
EEC-03: ELEMENTARY STATISTICAL
METHODS AND SURVEY TECHNIQUES

Time : 3 hours Maximum Marks : 100

Note :  Attempt any two questions from section A, four from
section B and two from section C.

SECTION - A
1. Distinguish between probability sampling and 20
non-probability sampling. What are the different
types of probability sampling ?

2.  (a) Explain‘class-limits’ and ‘class boundaries’
with respect to a frequency distribution. 10+10
(b)  Arrange the following data on the weight
of 50 persons in a frequency distribution
with 10 class intervals.
36, 48, 50, 45, 49, 31, 50, 48, 43, 42
37, 32, 40, 39, 41, 47, 45, 39, 43, 47
38, 39, 37, 40, 32, 52, 56, 31, 54, 36
51, 46, 41, 55, 58, 31, 42, 53, 32, 44
53, 36, 60, 59, 41, 53, 58, 36, 38, 60
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3. Discuss Pearson’s Product Moment Correlation
Coefficient. Calculate correlation coefficient from
the following data. 10+10

n=10, 3x=125 x?=1585

Sy=80 3y?=650, 2xy=1007.

4.  What is probability density function ? Briefly 3¢
discuss the properties of the standard normal

distribution.
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SECTION - B

5. The frequency distribution of 100 households by 6+6

average monthly expenditure (in Rs.) on food is

given below :

Expenditure

Find out the 25t and 75t percentile.

260 - 280
280 - 300
300 - 320
320 - 340
340 - 360
360 - 380
380 - 400
400 - 420

No. of
households
1

14
16
28

N
A

10
7
3

6.  The following data shows the daily profit made

by a shopkeeper during the last 15 days.

116, 87, 91, 81, 98, 102

102, 98, 93.

4+4+4

, 97, 100, 105, 101, 115, 98,

Determine the range, mean deviation and
standard deviation.
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10.

(a) Construct Fisher’'s ideal Index from the gu4g

following data.

(b)  Show that it satisfies time reversal and
factor - reversal test.

Item Base Year Current Year
Po Yo P1 QG
40 5 75
16 8 40
10 2 24
15 10 60

RN

= W N
(G

(a)  Explain the concept of probability according
to classical and axiomatic approaches.

(b) Explain the multiplication thecrem of
probability using Venn diagram.

What is an efficient estimator ? Discuss point and

12

interval estimates with suitable examples. 4+8=12

Suppose Economics faculty of IGNOU launches 6+6

a new course entitled, ‘Economics of
Entertainment’. Let x be the number of months
required to send the course for printing. The
probability distribution of “x" is given as below :

P(x)= ¥4 where x=5, 6, 9, 10

Find out :

(a)  What is the probability that the course will
be sent for printing exactly in six months ?

(b)  What is the probability that the course will
be sent in at most six months ?
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12.

13.

14.

SECTION - C

Ditferentiate between random and non-random

sampling.

(a) How many different words can be made by

using the letters of the word TACKLE ?

(b) A shelf can hold 6 books. If altogether there
are 12 books, in how many different ways
can the books be arranged in the shelf.

Find the distance between the following points

(@) P (2,5 and Q (5, 9)
(b) P (3, —4) and Q(8, 5)

Define Coefficient of variation. What are its
uses ?

3+3

3+3

EEC-03 5 P.T.O.



$dr-03

FATdeh SUTE hTHdhA
|ATa qe
foaw@r, 2012
Ul UTSTehH : TP
3.3.41.-03 : wrifues wifeaerta fafemat
3T A AT TR

g : 3 qu2 HfFHTT 37 : 100

FT: WU F G EE ST @ G G g SR 9 T g
g gl @ I ST

WAT-h
1. wfaswar wiaaaa R R-wifgear sfawgd & @ = 20
e FifW | Wifgehar faesa & fafie yar o9 @
T2
2. (a) WRERAl ST F w9 H 'a-wa' S Him-
Fit' @1 quia sifera | 10+10
(b) Fretfafaa stesl #1 10 o Sfaue et SRew
e | 50 Afeddl &% IR & 3MUR T Hafedd
HifT
36, 48, 50, 45, 49, 31, 50, 48, 43, 42
37, 32, 40, 39, 41, 47, 45, 39, 43, 47
38, 39, 37, 40, 32, 52, 56, 31, 54, 36
51, 46, 41, 55, 58, 31, 42, 53, 32, 44
53, 36, 60, 59, 41, 53, 58, 36, 38, 60
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3. oA ur-sepel deEey qune w1 el S
TEHEY qUeh &1 fefaiad sl 9 uftwfad
FIT 10+10
n=10, Ix=125 x2=1585
Sy=80 Xy?=650, Sxy=1007.

4.  YIg&Hd O 6o 8?2 HAS YEEM @2 k20
TuieHt &1 Harg § ==l R |
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5. WIS R ST wifew wd @ H) F SR W 100 geg
YRER &1 IERal 929 39 YFR §

g TRar-gE=
260 - 280 1
280 - 300 14
300 - 320 16
320 - 340 28
340 - 360 21
360 - 380 10
380 - 400 7
400 - 420 3

25 a1 31k 7591 TdaT® i 1T |

6. Trafafaa sfferd, gomrer gru sifam 15 fedf 8 aifsfq

HEEZR: Rl A R I 4+4+4
116, 87, 91, 81, 98, 102, 97, 100, 105, 101, 115, 98,
102, 98, 93.

S, wred faeer ok ame faaem #1 frafor #ifag

7. (a) Trfafea siwsl 4 PR oned ga@i® #1 646
afor Hifeg )
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(b) =Y fo I8 FTeohTo T i 3urer
IEHH T S HI FHTaT & |

g Imumad are] 9

Po Jo P1 9
2 40 5 75
16 8 40
10 2 24
15 10 60

=W N =
192 BN N

8. (a) WIfdHAl &I HaheTd &1 9vid, FefEwl R 12
AfEa (T fag) gfewnd & emm W
HifsTT |
(b)  Wiferehal & OH-THG 1 I, 99 S F TA
G Hifs |

9. HaM hoieh FT © 7 fog o afauel emee @t
=i, 3faa 3Tl | iy 4+8=12

10. #H eifU fof 377 & 1odvms ¥ A T WeTHn  6+6
TGS T e’ w1 guRy e §1 W et
ﬁx,gavrésfmmw A ! HIE-GE&AT (number
of months) T | “x’ T WIfaehal 927 38 TFR & :

P(x)= %40 W&l x=5, 6, 9, 10

Eﬂﬁﬁﬁﬁq:

(a) wifaskal 1§ T wouswy i o T A €@
g1 (f5fen) & ferq S fean smim ?

(b) g T § o wrewsn stfusan o8 wéAl
w1 feam s 2
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11. s AR N-Tgfmsd gfaaaa & AR & &< 6
ST |

12. (a) ‘TACKLE ¥& & 31870 o 94 9 fohad 9=~ 343
%1 T8 9T ST Feha © 2
(b) UTH W6 Tk @ & R T AfC FA
12 I&deh & @t fop fimr-foe ol @ 3% Siew
T TGN T el © 2

13. fHfafad fagsti & = &1 gt &1 91 amey 3+3
(@) P(25)3RQE09)
() P @3 —4) 3R QE,5)

14. fo=@o qonE ) 9Rfya I s9F ST e g? 6

————————tcn
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